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POLITICAL SCIENCE
Paper III
Time Allowed : 2% Hours| | [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.
Each question carries two (2) marks. Attempt all questions.

1. The idea of End of Ideology was popularised by :
(A) Daniel Bell (B) Karl Mannheim
(C) Dante Germino (D) Francis Fukuyama

2. Match the following books and their authors and select the correct answer from
the codes given below :

List-1 List-II
(Books) (Authors)
@ Emile @ IS Mil
(b) The Subjection of Women (@) Marx
(¢) The Statesman (it1) Rousseau
(d) The German Ideology (v) Plato (
Codes : 1y

(@ B (© (d
A) () @) G @)
®) Gi) () @) G6)
© & G @ @)
D @) G ). @)
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et fagme

wy-ux 11
FHY : 2% HU2| [guifs : 150
AT : 7§ WA-TF H UEET (75) FEfawedia wa § | WA WO F of (2) 3% T | Wt
e % I dfed |
1. fourym %t awfa & fagn A w3 dstg s3 2
(A) 2fae A (B) ®d HTeEm
(C) =ia s (D) it EEAT

2. Fefafes (el of 35 dawl & 99 faam sifeg o 99 &3 = 529 @ w@
W & HIT FHifew

-1 HET-I1
(qETF) (Fra=)
(@) 3ARE | @  Sum fHe
(b) % W R ghE (i) =&
(¢) =T WTHH (i) ®H
(d) = 5= amefedersi () @
- %

(@) @B (@ (@

(A) () Ga) G @)

B) @) & Gv) (@

©) @ @) @) (Gw)

M) @ GE) (o) D)
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3. What would be common to both Lenin and Mao’s ideas of revolutionary

change ?
(i) Both believed in the core ideals of Marxism

(zi) Both adapted Marxism to redefine the necessity of revolution under

precapitalist conditions
(zii) Both agreed that peasants will be the major agents of change
(fv) Both led successful communist revolutions
Codes :
(A) (i), (i) and (iii)
(B) (i), (if) and (iv)
(C) (i), (izi) and (iv)
(D) All of the above )

4. Who argued that although the natural state of man is free, this state brought

about constant strife ?
(A) Aristotle (B) Hobbes

(C) Locke (D) Rousseau

T.B.C. : 18/15/ET—III 4
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4.

wifasR! agemE & a1 8§ A o mel & faadl & W’ § ®EE 9| 3we § 2

() =F & gedar ® gE A@e 4 fayad @ 9

(ii).ﬁ%ﬁqﬁ-ﬁmﬁmﬁﬁﬁmﬁmﬁwmm%m
wErdER 1 ' uEE e

i) A F W A | wewa § fe fewm wmem F owre R e

(iv) BT 7 B "ol R Hifadl w1 dge

wE

(A) (@), (1) 3 (i)

B) ), i) 3 (v

(C) (id), (i) 3 (iv)

(D) 3vdE wt

7% o fHoa B e maft sned = wefos feufa w@ae %, 38 fagfa d evman dend

g W % ?
(A) 3TH (B)y @
(C) =f= . (D) ==
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Match the following and select the correct answer from the codes given below :

List-I
(Ideas)
(a) Global Justice
(6) Development as Freedom
(¢} Justice as mutual advantage
(d) Complex equality
Codes :
(@ B (@ (@
(A) (@) Gv) () G@)
(B) (i) Guv) Ga) @)
(C) (@) ) Guvy @)
(D) Gv) Gy @ @)
Who is the author of ‘Savitri’ ?

(A) M.N. Roy

(C) Savarkar

T.B.C. : 18/165/ET—III
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()

(B)

(D)

List-II
(Thinkers)
David Gauthier
Thomas Pogge
Michael Walzer

Amartya Sen

Aurobindo

Jyotiba Phule



5. mﬁmmmaﬁﬁﬁﬂa@ﬁvﬂmmwaﬁﬁq:

-1 F=-11
(fa=m) (Faramter)
(@) Afvas = @ =faz Tifem
(b) 2HETHZ TS WIEH () G| 49
() wfew TS =yHsE ugdRd (tii) WAEHE AlewiK
() wfee T (v) @A FA
T

(@ (B) (@ ()
(A) (i) (v) @ G
(B) (i) (i) Gi) (@)
(C) Gi) Gy Gv) (D
(D) Go) Gi) @ (@)
6. ‘miEs’ & vEs wH € ?
(A) TATA. 49 (B)  enfed

(C) TrateRt (D) g wA

T.B.C. : 18/15/ET—III 7 P.T.O.



7.  With whom would you associate the quote : ‘Let a hundred flowers blossom

and a hundred schools of thought contend” ?
(A) J.S. Mill (B) Harold Laski
(C) Mao (D)  Foucault

8. Who is the author of The Open Society and its Enemies ?
(A) Harold Lasswell (B) Charles Merriam
(C) Karl Popper (D) Isaiah Berlin

9. Which among the following is a work not authored by Aristotle ?
(A) De Anima
(B) The Constitution of Athens
(C) Summa Theologiae
(D) The Politics

10. Who among the following is not associated with the behavioural revolution in

Political Science 7
(A) Charles Merriam (B) Harold Lasswell

(C) David Easton (D) Sheldon Wolin

TB.C. : 18/15/ET—III 8



7.

10.

AT T I F fFaw wy @2 ‘e wE # fee @ iR dwE fae
s & aF-faas & a4’ ?

(A) Sigg. faa (B) ®ieg @
(C) s (D) wH

‘A dEdt e w12y TEHe # daw # § 2

(A) Bifee arEas (B) = ufEm
(C) a9 (D) oM afeld
frefafas 4 | S woF o g @ foeht ¥ 2
(A) & uftm

(B) = HEIEgyA fF uaH

(C) gun farertseg

(D) 7 wifcifesd

frefafaa # & ¥ Torifs o & =efs w8 98 S 5 ¥ 2
(A) = At (B) ¥ies wwaw

(C) 2fag = (D) ¥ affeHA
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11. Match the following and select the correct answer from the codes given below :

List-I List-II
(Ideas) (Thinkers)
(@) General Will () Marx
(b) Integral Yoga (7)) Gandhi
{¢) Sarvodaya (@) Aurobindo
(d) Alienation (iv) Rousseau
Codes :

(@ B (@ (@

(A) v) @) O @

(B) (w) (@ (&) &)

(C) (v) Gu) @) @

D) Gu) @) @ @
12. Who among the following is an exponent of Liberalism ?
(A) Mosca (B) Isaiah Berlin

(C) Burke (D) Marcuse
T.B.C. : 18/15/ET—II1L 10



11. frefafen 4 foom Fifm ag 9 @ @ 328 | @t s &1 937 F6Y .

i1 i1
(fa=m) (faam=)
(@) T TEH (@) e
(b) aftE Fm @) e
() wERE (i)  wfERY
(d) e (v) w4

e :
@ ) © @
(A) () Gy @) Gi)
(B) Gv) ) (@ i)
(©) Gv) G @) @)
D) () @) GE) @)
12. frafafem 4 @ 7 SerER & Yauoes & 2
(A) wreR (B) o Al

(C) == | (D) WS
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13. Match the following and select the correct answer from the codes given below :

List-I List-II
(Books) (Authors)
(@) The Sexual Contract (@ Sheldon Wolin
() On Social Contract (i) Carole Pateman
(¢) Politics and Vision (iiif) Lenin
' (d) What is to be Done ? (iv) Rousseau
Codes :

(@) (&) | () (d)

(A) (@) @(v) @  Ga)

(B) Gi) vy G Q)

(C) (@) &) ) ()

(D) Gi) vy @ (@
14. Who is the author of the book “Multicultural Citizenship” ?
(A) Will Kymlicka (B) Charles Taylor

(C) Seyla Benhabib (D) Chandran Kukathas
T.B.C. : 18/15/ET—III 12



13. Frefafas # o ifae ag 9 3 T 520 @ wd 3| &1 95997 FHeg

geit-1 gEt-11
(=) (vra=)
(@) T SG3TA FIHR (G)  YezA =SifeE
(b) =M1 W HR () HIG T2
(¢) ietiers wz fasm (i) @A
(d) == T T &t & ? () w4
e

@ ® @ @
A) G) Gv) @ G
(B) (i) W) G @
(©) G G G ()
M) Gii) Gv) G @)
4. ‘wedmeE fadeaim’ feam & das wE ¥ 2
(A) faer fuferm (B) = W

(C) grgen e (D) €957 HHIE

T.B.C. : 18/15/ET—III 13 P.T.O.



15. Who among the following is the exponent of the labour theory of value ?
(A) Aristotle (B) Hobbes
(C) Locke (D) Rousseau
16. Which thinker uses the allegory of the cave ?
(A) Plato (B)  Cicero
(C) Marsilius of Padua (D) St. Augustine
17. Which one of the following is not a federal state ?
(A) Nigeria (B) Norway
(C) Switzerlahd (D) Belgium
18. The metaphor ‘Marble cake’ federalism applies to :
(A) Canada (B) Australia
(C) India (D) USA
19.© Which one of the following is not a unitary state ?
(A) Denmark (B) Ireland

(C) Sweden (D) India

T.B.C. : 18/15/ET—III 14




15.

16.

17.

18.

19.

e § § 9 T # oW o w1 vheE € 2

(A) 3| (B) ®feW

(C) @& D) FH
frefafaa § 2 SR foas TR F I H wEN F@ § 2
(A) @& (B) faad

(C) mfdferam 3w wgan (D) |UE TR
frefofem § @ @9 wHE T @ ¥ ?

(A) AT (B) ™

() s (D) fesrm
e B War w9 F v feg gw @ fow e R 2
(A) FAEl @ e
(C) wra (D) HgF T aEfE
frefafas § ¥ 99 om T T8 ¢ ?

(A) T (B) SRS

(C) =rEA (D) W@

T.B.C. : 18/15/ET—III 15 P.T.O.



20.

21.

22.

Which one of the following has a parliamentary form of government ?
(A) Argentina (B) Peru

(C) Australia (D)  South Africa

Who uses an institutional perspective to understand the sovereign state ?
(A) Fred Riggs (B)  Phillippe Schmitter

(C) Stephen Krasner (D) David Easton

Wheo is the author of The Sources of Social Power : A History of Power from
the Beginning to A.D. 1760 ?

(A) Michael Mann (B) Chantal Mouffe
(C) Roy C. Macridis (D) James Scott

The major difference between a political party and an interest group is

that :

(A) An interest group tries to influence public policy but a party does

not

(B) Interest groups are not influenced by political ideologies whereas parties

are

(C) Political parties aim to capture political power whereas interest groups do

not,

(D) Political parties work according to the wishes of their leaders whereas

interest groups need not

T.B.C. : 1815/ET—III 16



20.
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23.

frefafag # 4 fow 20 § @R & 99dg 9§ 2

(A) il (B) uw

(C) aregfemm (D) =fam s

fFg awy v F1 e % fou g sfisg @ oyEm R 2
A) we o B) fofm wiz

(C) FrF FHR (D) 2faE =

“z Ardw 3% HWive wew ;o et sifw uraw wim g fafim 2 E 1760”
T h dEs wE ¢ ?

(A) AEEHe "H (B) 9=d W%
(C) U #H. T=Es (D) < @i
T ToHifae o iR uw fea o F ygEm sw w® T

(A) = fad ggE @ Hfifa & wwfas FW & Fw F@ g, &@fF @ 3 W
TE

(B) fea gz uoriifess faamumel @ wwfew 98 @9 ¥, vafe 3@ @

(C) Terifas gal & @ed UoHifas UM W FHEW HE B €, FaE fed WHE H
T @ T A

(D) TerHifa ge1 aqs el & fadl & oeR W w1 €, waE g wgg aEvEs
w9 ¥ T 96 w9
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24. Which among the following argues that democracies cannot have a single,

25.

217.

monolithic centre of power but require many centres of power so that many

people and groups can exercise influence on different issues ?
(A) Corporatism (B) Pluralism

(C) Authoritarianism (D) New Institutionalism
Who is author of the book titled Power/Knowledge ?

(A) Steven Lukes (B) Michel Faucault

(C) J. Gray (D) Nicos Poulantzas
Who treats the elite more as a ruling class ?

(A) Mosca (B) Pareto

(C) Michels (D) Bottomore

Who argued that in contemporary societies the field in which the question of

legitimacy arises needs to be broadened ?
(A) Hannah Arendt (B) Michael Sandel

(C) Habermas (D) Robert Dahl

T.B.C. : 18/15/ET—III 18




24, Frefeafea % @ & 92 9% 2@ ¢ fR AiFad ¥ UF, THEW 99 FH HF T4 A

25.

26.

217.

gHal &, Wfewk 399 fau gw & g7 | F5 F FEgEa aq ¢, ed fafas d@n

3R THE ATT-FE HE W AT TWE W TN W FE 2
(A) FITIREER (B) EeER
(C)W (D) 9 SHER
/Ao YiNE e ® fEd FE 6 2

(A) €T g9 (B) ToFa w=
©* A (D) Frra i
FH e B wEs o1 & §9 § @@ ¥ 7

(A) Hret (B) W

(C) faew (D) ErREER

fr 95 o fem & for gwerelT 999 § 39 89 = SAME F9 H AEGEEHaT (a6

YA F VYT I9S Ba ¥ 2
(A) &1 IARZ (B) wRF@ dved

(C) TEvag (D) & =
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28.

29.

30.

31.

How is political socialisation defined ?

(A) Formation of political attitudes

(B) Formation of habits about dealing with society

(C) Dealing with the trade union demands

(D) mobilising people against the exploitation in the society

Which a.pproach has Robert Dahl used in his work, Who Governs ?
(A) Institutional (B)  Decision-making

(C) Reputational (D)  All of these

Which of the following is an interest group but not a pressure group ?
(A) Bhartiya Kisan Union (BKU)

(B) Student Federation of India (SFI)

(C) Servants of the People Society

(D) All India Railwaymen’s Federation

With which of the following is Lucian Pye mainly associated ?

(A) Democratic theory

(B) Political parties and pressure groups

(C) Theories of citizenship

(D) Political development

T.B.C. : 18/15/ET—III 20




28.

29.

30.

31.

Terifas wEEEo @ fww we sfiafhe fEm s & 2

(A) TR g @1 Frefo
(B)marmaﬂ%%ﬁmmﬁufw

(©) 3= A H A 4 g

(D) &rit # T § vy ® fawg Mess w0

T a7 & o = ey § fFe e o v e 2
(A) HEAHF (B) =

(C) wiassrm= D) 3 uft
frafofeas § 4 o1 o foa T &, ofF <9 o @ & 2
(A) wrdrs fem gfas (BKU) |
(B) q@zm #Afe e (E.Uw.AE.)

(C) Taveg 3ife T Wiqe Srame

(D) @& s wEh=w HewE

e v Frefafan § ¥ el TE w9 @ gafg § 2
(A) wEmias fasi

(B) Terifas 2@ 3% T@E wuE

(C) mfwm & fagma

(D) srifas oy
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39 Which of the following amendments is equated with ‘Mini Constitution’ ?
(A) 24th (B} 42nd
(C) 44th (D)  86th

33 Who was the Chairman of the Drafting Committee ?
(A) Dr. B.R. Ambedkar (B) Dr. Rajendra Prasad
(C) Jawaharlal Nehru (D) Minoo Masani

34. Which of the following is/are borrowed from the Irish Constitution 7
(A) Fundamental Rights
(B) Directive P;-inciples of State Policy
(C) Westminster Model
(D) Judicial Review

35. Right to property now exists in Indian Constitution as :
(A) Fundamental Right (B) Political Right

(C) Economic Right (D) Legal Right

T.B.C. : 1815/ET—I 22



32. fret § A fg woiem 1 qE oy dEuE A W oI § 7
(A) 243 (B) 42
(C) aadl (D) 8e&dl
33. wHRywey wiufa # sy @@ 9 2
(A) 2. WA F=EH (B) Bl THE ¥ER
(C) Samend JeE (D) ] HEHE
34, = § F S wEuE sEEve & wfaum | fam T R 7
(A) wiferr s
(B) 1™ & +ifa FRy=s e
(C) a=fie wizgd
(D) =g TrIEEEA
35, WRdE Wfawm # Gufd & orfuwr em fee w9 # it ¥ 7
(A) wifas aifuwr (B) Tertfas #fuwR

(C) anfds afysdm (D) A SAERR
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36. Which of the following phrases is not generally associated with the Prime

Minister ?
(A) Primus inter pares
(B) Shinning Moon among the lesser shining stars
(C) Keystone of the cabinet arch
(D) Rising sun
37. The electoral system for the President of India is known as :
(A) Proportional Representation
(B) Proportional Representation and Single Transfer Vote System
(C) First past the post system
(D) Mixed el'ec‘toral system

38. Which of the following does not fall under the jurisdiction of the Supreme

Court 7
(A) Original Jurisdiction * +  (B) Appellate Jurisdiction
(C) Administrative Jurisdiction (D)  Advisory Jurisdiction

39. Who is the author of the book, ‘Federalism Without a Centre’ ?
(A) Lawrence Saez (B) Balveer Arora

(C) Douglas Verney (D) Ronald Watt

T.B.C. : 1815/ET—III 24



36. = ¥ ¥ W IV YRR $HH 9 g ¥ dafuw a8 ¥ 2
(A) ¥mEl H 9gH
(B) fenfenm faard # wgs@ a=m
(C) AiFHEs AeE &1 S8R &Y
(D) Fmanr g4
37. WA & Teufd ® g wonelt @ fEw ™ ¥ W W ¥ 7
(A) sfas gfafafus
(B) Iqwfas wiaffus & wswa d@%aviig wa wonet
(C) s & fada/se o2 7 9w fawm

(D) fafwa et yomett

38. f= # { =t sfuwia walsa =gy f 99-99 @ detya 9% & 2

(A) Wiy S (B) erdeig stfuspifaan

(C) wymE=a Afaamfa (D) wuHeh sAfumria
39. ‘wefaw fagme ¢ 9=’ g @ d@s FHA § 2

(A) g A9 (B) @eER 3w

(C) =TaH =99 D) e ==

T.B.C. : 18/15/ET—III " 25
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40.

4]1.

42,

Which of the following has never remained the basis of creation and

reorganization of states in India ?
(A) Language (B) Ethnicity
(C) Territory (D) Religion

In which of the following states are women given 50% reservation in

Panchayats ?
(A) UP (B) Himachal Pradesh
(C) Jammu and Kashmir (D)  Gujarat

Match List I with List IT and select the correct answer from the codes given
below :

List-1 List-II
(@) Raj Thackeray (£) ATADMK
(b) Mamta B;aneljee (@) TMC
{¢) Navin Patnaik (zi) MNS
(d) Jayalalitha (w) BJD
Codes :

(@ (B () ()
(A) (@) (@) () @)
(B) @) @ @ ()
(C) (@) Gu) Gv) @
(D) Gv) O @ )

T.B.C. : 18/15/ET—III 26



40. f= 4§ Fw o= uRa § T H S9 @iR gien & fav wemw vl o ¥ 2
(A) sren (B) oo
(C) &= (D) ud

41. F= % | frw o= § vad A afeenell #1oso wimdt smew fem omn & 2

(A) I y29 (B) Teurss ww
(C) 91 | &y (D) TR
42, T 1= g 0 3 foam 5@ g &3 ™ 72 3 wema @ w® Iw 9fm

g1 wet-I1

(@) TS I () uIEuStuas.

(b) TH@ wASA () SumE.

(c) 7 weTHE (ti) WA

(d) Eefem (iv) g

we

(@ (b)) () (@

(A) (i) @) Guv) @

(B) Gi@) ) () (o)

(C) @) @) Gv) ()

(D) Gy @ G G
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43.

46.

Who characterized the formative phase of the Indian Party System as the

‘Congress System’ ?
(A) W.H. Morris Jones (B) M.P. Singh
(C) Geovanni Sartori (D) Rajni Kothari

Which of the following States/Union Territories recorded the highest women

turnout in 2014 general elections ?
(A) Himachal Pradesh (B) Kerala
(C) Nagaland (D) Lakshadweep

For a political party to be recognized as ‘State Party’ the total valid votes secured

by all its contesting candidates from the last assembly elections in the concerned

state would be :
(A) 3% (B) 6%

(C) 8% , (D) 10%

Jaya Prakash Narayan is associated with which one of the following

movements 7
(A) Dalit Movement (B) Students’ Movement

(C) Women’s Movement (D) Tribal Movement

T.B.C. : 18/15/ET—III 28



43. WROTY SS9 SHE ® WRIYS w1 i feud ‘i e’ § garv fam 2
(A) Teeg.uq. Hifte w1 (B) um.dl. faz
(C) foraa= st (D) T FrE|t

44. A 9 3 5y Ty/d= i e # 2014 o g9 # wfeasd &1 wwier

sifueras W ?
(A) fe=a wdw (B) =@
(C) et . D) e

45. THdl Torifas a8 1 'T9 a8’ & 9 § 9 WS 5 © 00 39 < & ONE

IHEEdl H A9 FaEfad w59 § A faum |w e § wa fma 49 w5 a9

g ?
(A) 3% (B) 6%
(C) 8% e (D) 10%

46. SE-YHY RV F 7 O 3 f5g e A sEy W & ?
(A) wfea sTEEm (B) =19 HEEA

(C) wfgen stEe™ (D) SASEE STaeH

T.B.C. : 18/15/ET—III 29 P.T.O.



- 47.

48.

49.

Which of the following is not a basic postulate of the Human Relation Theory
as developed by Elton Mayo ?

(A) Focus on management as a web of inter-personal relationship

(B) Rejects the mechanistic study of structures and principles of organization
(C) Standardization of working conditions

(D) Promotes the creation of informal groups

Anti-Weberian approach to Public Administration was reflected in the

writings of :

(A) Christopher Hood (B) Dwight Waldo
(C) Vincent Ostrom (D)  Ferrel Heady
Which of the following is/are true of New Public Administration ?
() It is concerned with social equity

(zz) It decreases the importance of bureaucracy

(7z1) It is an outcome of globalization

{iv) It supports innovation and change

Codes : ' .

(A) | (@), (@), (iv)

(B} (i) and (iv) only

(C) (ii) and (iv) only

(D) (2), (iiz) and (iv) only

T.B.C. : 18/15/ET—III 30



47. 9 ¥ § 99 31U a9 Teed w9 3R fawfoa wme 49y faga | gEfad /8
%2

(A) adafeas® Ta9 & 9 & ¥9 0 TEUT W oEd
(B) ¥® §Wed & "iaW iR fagid & witiga seaga =1 face w5 2
(C) sifaw sEzeisll &1 WAEE
(D) sFv=nis e #1 Sy ® e
48, R WOET & e Ioe fRee oan d uftefam @ &2
(A) T&=w T2 (B) EdaEZ TRl
(C) fadiz sifem (D) e &2
H9 AT Fmidsrgads wm & Teaa 2
() J& W WEW ¥ datug §
(i) TF HHETE F AW F HA B@ ¢
(iti) o® AvdteTr w1 9w ¥
(iv) T8 TR AR YiEdd & gudq & §
wHE
(A) (@), (D), (iv)
(B) (i) 3R (iv) F5&
(C) (i) 3R (iv) Faa

(D) (i), Gii) F (jv) Ha=A
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50.

51.

52.

According to James D. Mooney, which principle of the organization is the most

important determining principle ?

(A) Hierarchy

(B) Unity of command

(C) Span of control

(D) Coordination

The first Minnowbrook Conference in 1968 was pioneered by :
(A) Dwight Waldo

(B) Robert Denhavdt

(C) Peter Drucker

(D) Osborne and Gaebler

Which of the following is/are an impact on the contemporary Public

Administration ?
(A) Liberalisation (B) Privatisation

(C) Globalization (D) All of these

T.B.C. : 18/15/ET—III 32



50. ¥4 Bl A F ATER WA W wAw fEw wEw wewye fuie fmm g 2
(A) TREHMH
(B) @Y HI Tl
(C) e faggfa
(D) wF=F

51. o9 1968 ¥ it wuw fodflags oo & saig =@ 4 2
(A) T2 oS!
(B)ﬂaééw%é
(C) Wi gt
(D) #Afead 3 frgaer

52. = § @ fFm uowwie e TYTER F1 wwifgs e & 2
(A) s (B) frsftsm

(C) Jgeiato (D) 3 wuft
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53. Woodrow Wilson in his article “The Study of Administration” advocates for which

of the following ?

(£) Politics-Administration dichotomy

(ii) Preference for Private Administration
(iii) Creation of Informal Groups

(iv) Comparative Study of Administration
Codes :

(A) (2), (&) and (i) only

(B) (i), (i) and (iv) only

(C) (it) and (iii) only

(D) (i) and (iv) only

54. The Administration Reforms Commiséion was first set up in January 1966 under

the chairmanship of :
(A) A.D. Gorwala (B) K. Hanumanthaiya

(C) Paul H. Appleby (D) G.S. Bajpai
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53. %z % W § wany fF 920 faewa & o, YT w o i e d

¥ frum == T ¢ 2
(i) uerifa-womA fgure
(i) frsit wemeA & wgiEsa
(i) s wqE @ fmm
(iv) TMTEA W1 JEARAE  AEHEA
FHE :
(A) (), (i) 3R (i) Haa
(B) (), (i) AR (v) Fa@
(C) (i) N (iii) daet
D) () 3R (iv) Paa
54. Sl 1966 H werefiw WHR AEM wEd vee fEwwt @wnsa # wfes gewm 2
(A) w2t TREm (B) . THUEE

(C) did W= ToerEt (D) S.ug. awuE
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55. Which of the following is/are the salient features of Citizens’ charter ? |
(i) Transparency
(it) Citizenfriendly
(iiz) Accountability
(iv) Reduce the cost of the Government
Codes :
(A) (i) and (i) only
(B) (i), (i2) and (i2) only
(C) (i), (i) and (iv) only

(D) (i), (iir) and (iv) only

56. Hota Committee (2004) was constituted by the Government to review and

suggest on :
(A) Administrative Reforms (B) New Economic Reforms
(C) Centre-State Relations (D) Civil Service Reforms

57. Which of the following is not within the mandate of 73rd Constitutional

Amendment Act, 1992 ?
(A) Constitution of District Planning Committees

(B) Setting up of State Finance Commission

(C) Empowering State Election Commission to Conduct All Panchayat

Elections

(D) Provision of 1/3rd of seats reserved for women at all levels
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55.

56.

57.

T H WegH § wny F = A @ g0 RE 93 %6 g favead €2
(i) Wy

(i) AMiE A=A

(ii) wAmERE

(iv) I8 & =3 § Hm

He

(A) (i) 3 (i) Faa

(B) (i), (i) R (i) Faa

(C) (&), (i) 3 (iv) Haa

(D) (), (D) 3 (iv) Had

a4 2004 T WRa TR A Far wfufa 1 e 4 F faaw witan ot g &) i
frar ?

(A) Wl gur (B) -4 anid® guR

(C) F=-T™9 Hay (D) fafae Far gun

e & | Fm wymaem 738 dfaum w59, 1992 @ sfRw F fafes W ¥ 2
(A) Toren dern sfafadl &1 e

(B) =3 fam amam =1 e

(C) w=ra 9@ wEeE & fay v wEe aEm & getEs
(D)wmwﬁmaﬁ%mqa-méﬁémmm
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58.

59.

60.

The provisions of the office of Comptroller and Auditor General of India is

enshrined in :
(A) Article 352 . (B) Article 256
(C) Article 148 (D) None of these

According to which article of the Constitution, the Panchayats are regarded

as institutions of local self-government ?
(A) Article 40 (B) Article 243
(C) Article 243(G) (D)  All of these

Which of the following is/are true with respect to Public Accounts

Committee ?
(i) Its work is based on the audit reports of the CAG

(11) It examines the accounts of Government of India for appropriations made

by Lok Sabha
(i) 1t examines the accounts of autonomous and semi-autonomous bodies
Codes :
(A) (@), (it) and (i)
(B) (i1) and (i) only
(C) (i) and (ii) only

(D) (iii) only
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58. W@ # frgw® weerEl Yl SEied wauE gaum 8 %8 avia § 2
(A) #g=® 352 (B) #AT=R 256
(C) sIg=2= 148 (D) T & FE A

59. dfaum # f5m o= F F=ria YoEE W WG @E-IEE F TRl § w9 8
garua fF m & 7

(A) 3T=R 40 (B) #AT=< 243
(C) =R 243(Sh) (D) & =it
60. F H Wae R aone R A dE A F R AP A A wd ¥ 7
() T = feEs o vias # v il wosmfa
(i) A€ @F WW FE ¥ Helwa YA TR F G@ H T FE 6
(i) 7% =W IR wE-wEn e & ol w1 gl e ¥
e
(A) (@), (1) 3 (i)
(B) (ii) ¥ (i) ®aa
(C) (i) 3R (i) *ua

(D) =®aa (iii)
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61.

62.

63.

Morton Kaplan the Chief exponent of systems theory of International Relations
has given six models of International Systems. Identify the incorrect model

mentioned below :

(A) Loose Bipolar System

(B) Tight Bipolar System

(C) Collective Security System
(D) Unit Veto System

The term Prisoner’s Dilemma is associated with which of the following theories

of International Relations ?
(A) Communication Theory (B) Neo-Realist Theory
(C) World Systems Theory (D) Game Theory

Divide and Rule is 2 method of which of the following strategies in International

Relations ?
(A) Zero-sum Game (B) Balance of Terror
(C) Balance of Power (D)  Collective Security
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61, AMEE Hey & Hary g & =3 Wouss Wl e 7 Faueiy sjEeq

# B dew fag ¥ ) A Ry w fawed d vem wfewm w1 ugam #Fifsm
(A) @iet fgya™ =asn
(B) Hea feusia =rawn
(C) ufe® TIa =HGF4l
(D) g =3 =aay
62. faormd s v il el % frafafas § | o fagr & 9@ gon § 2
(A) Far fagr (B) a-gudandl fagr
(C) fava =awn fagr= (D) @@= fagr
63. A3 3r o wY, A gadl & Fefafes § 7 f59 oEfa =1 o 9@ & 2
(A) S 9 W (Y= AR S9)
(B) #W® 1 Hge
_(C) vfFm =1 Hge

(D) \Hfew Tam
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64.

65.

66.

67.

Which of the following is a non-conventional threat to national security in the

contemporary international relations ?
(A) Inter-state war over territory (B) Terrorism
(C) Illegal migration (D)  All of these

One of the following arms control treaties was instrumental in paving the way

for the “End of Cold War” ?

(A) Partial Test Ban Treaty (B) Outer Space Treaty

(C) INF Treaty (D) SALT-II

Ethnic conflict in Kosovo in the aftermath of cold war was a/an :
(A) European Conflict (B) North American Conflict
(C) Sub-Sahara African Conflict =~ (D) East-Asian Conflict

The process of conflict resolution involves :

{A) Negotiation | {(B) Mediation

(C) Arbitration (D) Al of these

T.B.C. : 18/15/ET—III 42



64. Frfaiaa § 4 % gy ooty gad § wdm @een # fou v feumefo

Taa & - ?
(A) Y-5 & fou o T g5 (B) #mHAR
(C) -3t wawm M) 2 a4

65. Trafafes & | o v frasm wfy 3 “viia g3 =1 waifa” § weo st orn @ 7
(A) uifFE 3= 3\ & (B) R @ @4
(C) FBUATE & (D) HE-11
66. A Z& & W wEE § wEE F0E 91
(A) U9 zHTa (B) W i) owg
(C) |a-[erm THIH THaa . D) yEi-ufeed ewE
67. ZHTE T FA w1 wfE # wigw ¥ .
(A) Fa (B) e

(C) g1 (D) 3 |sit
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68.

69.

70.

71,

American President Ronald Reagan and Soviet General Secretary
Mikhail Gorbachev proposed to eliminate nuclear weapons as a measure of arms

control in 1986. Identify the famous summit meeting between the two heads

of state ?
(A) Washington Summit (B) Moscow Summit
(C) Reykjavik Summit (D) Vienna Summit

With the end of cold war, the world witnessed the emergence of a :
(A) Multipolar world

(B) Unipolar world

(C) Partly unipolar and partly multipolar

(D) None of <thc above

Contemporary International Political Economy is based on the principle

O i oo S e AR RS N
(A) Liberalism . (B) Economic Nationalism
(C) Neo-Liberalism (D)  Socialism

Major anchors of contemporary globalization do not include :
(A) IMF (B) World Bank

(C) WTO (D) Military-Industrial Complex
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68. smfww wgufa IMes & o Hifgaa wa d@ed freda TaEg 3 19ss § 97
wefaa e & v Foo & o 3ug @ w9 F o efaadl # wm e T
S| F T el % A 9 e @ e % qeei

(A) =¥ weer (B) ==l e
(C) ywifaes FHeH (D) ToE ge
69. ¥ia q& =1 waia & ar fava =1 @ fewd =R 4 gon 2

(A) wgydta fava
(B) wHyE fava
(C) =i ®9 | wwyea i ifvs w9 9 agydiy
(D) 3949 A | #1 7
70.mmmmmmmm%?
(A) SRR (B) &fds wr=am
(C) 7o-ZZRER (D) FeER
71. GHHIEN AvEHET T FgE 3wl H F= wina a8 § 2
(A) 37TE.TH.TF. (B) g = (fawm F%)

(C) Eaeg. &30, (D) THiEE-svefeaa wireEs
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72. The civil-nuclear deal of 2008 is a collaboration in the field of nuclear energy

73.

74.

75.

between :
(A) India-Russia (B) India-European Union
(C) Indo-USA (D)  Sino-India

Chakama Refugee problem is a bilateral issue between which of the two South

Asian neighbours.

(A) India-Pakistan (B) Pakistan-Bangladesh
(C) India-Bangladesh (D)  Pakistan-Sri Lanka
India’s look east policy was launched during the regime of :

(A) Rajiv Gandhi in 1988

{(B) Narshimha Rao in 1992

(C) Atal Behari Bajpayee in 1996

(D) Manmohan Singh in 2001

India opposed the comprehensive te,st. ban tres;ty on the ground that :
(A) NPT and CTBT were linked

(B) CTBT increased the gap between nuclear haves and have-nots
(C) CTBT was not aimed at universal disarmament

(D) All of the above
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72. 2008 1 AN qUAM] T woAq S @ &% A fEE A wedm ¥ ? -

(A) ¥Ra-&4 (B) Wa-girg Ffm
(C) Ma-4gga TG ST D) -y
73. =@ vl mwen efww ofem @ B )9S Sui ow fuse wweEn g2
(A) ARE-TiEE | (B) Wi -gmerey
(C) WRA-ATEAR (D) Wi e
74. W@ F @ @ i @ ifa feed wem F oenow g ?
(A) Tftg e, 1988 (B) TfHg ™, 1992 H
(©) arem famrdt amrd, 1996 # (D) wEEs faw, 2000 #
75. WRA 7 o ggm FEm G @ e enem W fady e 7
(A) @A iR @AAE 2 gw 9
(B) A=A F wmm v W= i WA WiRER & A A S S

(€) FAMA w1 @y gEdifE et 7@ @

(D) Iwdsa =sf
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